FFICT = RERT=ILTHEHATHSL W=\

[e®") LYy R &2 W BRIT<DIZEEL -
L ZABRBILETTHRDONTI 94 LEE]

7 @ tennisegg BAEALELTH | BRMATLYRAVEZIFoNET!
BRI OATTIZIFEWEIICHLAAT ST

—&FBI 7R <FIRI AR
I& L& T/##k45/#1#%50 2,772H 2,772H
R~ L1k 3,894 4,059M
[ memwesax- ] <us | wwe |
1& U & T/#0#%45/#14%50 2,937 2,937
R~ L1k 4,290 4,455M
YYTIVR 5,115
YA =FI TR <TITK - AR FhH7s—
K 1,815
JS 2,442
J1 2,607
)2/13 2,442 3,630
P1/P2/P 3,828M(K §°1d) 4,800/
V7 b F=R1 (#0E) 2,442
V7 Tz R2 (BEBE) 3,828

-k

tennis egg T3k ®072-864-0146 i 1

< 4R
. "%‘ﬁm

tennis egg A ©072-807-3907 &

-_ -— E] Tt.t
) ﬂT S S Fhhes ®

" OXRME 100 AELRETT

]



